FAF2APpRAY 113 8ER $-BPHRHY ~2skEPIR2HE L
PR Etes 5= 8& FT O i

PR A 20 kA bRt

. 9 1
. (B )= fr2010x497 (21— 10><a ) btz

(A) a=49 (B) a=50 (O b=1042 (D) »=1049

NUREIECE B8

2.(D ) *—+v121=°? (A) +121 (B) 11 (C) 11 (D) —11

3.(B) TAEAY 3 AREA xHIAENY

()t [ —15] (e)E-E ()

7 x2+3

(A)2 (B)3 (C)4 (D)5 I

(7)) 2x—4=0 () 2024

4.CA ) ¥ QX¥—bx+4)+Qx+1) 8% 5 ax+b 3 5 c» Bl atbtc=7?
(D5 B (OT (D)8

5. (D)Ti'pl’f}?l“’}qmi—;d,rf&— BRI RN
() F1% —5'=—25" 10 =5 =25 T 24T (B) 0.2 3 0.4 e = §0

11
() 25 dgen= = 11 (D) —2 L4 0+ fa

6.( C) % a=~[29" b=[28"c=6Rla~b~c~ | HH&LF?
(MDb>c>a B)e>b>a (C)e>a>b (D)a>b>c

7. CA) 2a+ DX+ (b—Mxt+ab® - B xeh— = 53558 > ¥ — 538 e —1 Bl 538 8 e
B3t e ?
(AH—=3 (B)—4 (C)—5 D)0

8. ( B ) EB® (a+b) (b—a) &% i@ ?
(A)a—b (B)b—a (C)a+y (D)—a—b

9. (D) FEhEsmepI gy
(A)\/_+\/_—\/_4 (B) 3v5-v5=2

© \E+\/§=1 (D) 2\/§X(—4\/§)=—

10. (B) <ok § B Rafiios VIZ1 -2V - L V12 V05 VT - f
M1 ®2 ©3 O 4



I1.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

(C

(D

(B

) 4o B > Fw ¥, ABCD ¢ > £A=2C=90° - ¢ xAB=7° AD=24>CB=15> %
CD =7

(A) 15 B) 17 (©) 20 (D) 25
A
) ¢ ard kTG g 3RG> -3) F(-8>2) KEF =2
(MDY (B 12 () VI9E (D) V170 A ¢

78 (3V6+2V3) =3 sk
(D) 3WV2+2 (B 3V6+2 (0 Ve+6 (D) 3V2+6

)LﬁJﬁzaamTﬂ%ﬁ@ﬁﬁﬁ
(M) V72 = 2a (B) V180 =10a (C) V1i8=2 (D) V20—+V2 =a

10
) 4v+ B > ¢ &vE 4BC} > AAED 3 & & = &2 ’_‘—”_E=§’_E=§ = 25 ABCD e
L2
12 24 37 74 A D
A) = (B) — ©) % D) =
) Frlie KR x*—x—6 {r 5x% —17x + 6:72 F]5¢
(A x+2 (B) x-2 (C) x—3 D) x+3 B E C

) TR F AR 27
(DX +6x+8 (B)4x'+12x+16 (OX+8x+64 (D)X¥+4x+4

) HIET f75N X —Tx+49=0 13 13 5 R fER 2 ?
(A)= 4p 2 2 (B)@ 124p % (C) & f2 (D) & ;2 2| %7

) TR EE (x—4)(x+3)=—06 fz ?
(A) 4 (B) 2 (C)—3 (D) 3

)ﬁ”éi&$3f+ﬁx+2 2X +5x+3 e FrdeT

B A EAs N RTINS A EE G2+ D=0Q2x+3)(x+1)
o ii%fﬂ%kﬂﬁ%hl FlN(x+1) > # 3x+2=2x+3
FzHI RS F R RS 2x+2 F x=1

(A) 3 £ J85 - HIMF 480

(B) kb apa g3 J6 5 = H FF bk

(C) Fath3ma £32 5 % = ¥ I
(D) +its - Hot s

) E—1 238N ¥—3x+hk=0- 42> Bl k= ?
(A)—4 (B) 4 (C)—2 (D)2

) F - KR G A 00T A 0 v E S 52 s P R E LS

(D15 (B)20 (©)25 (0)30



23.( C ) 2020 & #7775 & (COVID-19) +inf7 > @agdnsnst 2021 & % 19~30 & » § ¥~ A ¥k
¥ éﬁﬁm ﬁi«’zﬁv\ﬁa#frﬁﬁl Ye@lrom o Bld BT

, i 768
)'g”F il B T;ljf!r)tx‘l’ IF"‘%]J T FE? éggg_
(A)k%#rﬁﬁjif’z~ H e A df S 26001
(B)#% 24 kehm = <dcs 260 « xggg:
(C)% 21 Fezv= A ds (4 300 260
(D)% 28 ke = A dcA 4550 £ o el 109

1007 12

19 20 2] 22 23 24 25 26 27 28 29 30

2021 F5ER (8)
2. (D) »& - FEF P T X DR fi s fedkdoT o Rl a

=9
Aag( )| (A )| R ()
40~50 3 3
50~60 5 8
60~70 8 16
70~80 11 27
80~90 9
90~100 4 a
(D13 (B)24 (C)36 (D)40

(A%ﬁ % gw-a;rfmg]a P REFIE - BRE LG
F

(B) &3 ff = oA fedr M P > MEARE S 432 T B 4 oA

Uﬂﬂlﬁﬁ A AR 0 K AR L it s kBT Rk



